jet / dm_3jet [pb/GeV]
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Ratio to DO

=
o
N

10

[EEY

0.5

1960 GeV ppbar Jets

EI T | T I T I I T I T | I I I I T — 9
— —1
- Three-jet mass(D0 p__ > 40 GeV, y| < 1.6) ok
’ S
= =N
N S
— ] A\
N s
—
= Hm
— _ E
- —.>
— -
B e
—— jae— m
— = <t
— -] m
- 3
I 10
- — ™M
%
= ® DO .=
— —&— Pythia 8.308 default o - %
[ ---a-- Pythia 8.308 default-CD A s
_ ----- Pythia 8.308 default-DL & =
— - Pythia 8.308 default-MBR 38
| ! 1 v
u | 1o
! o
—— ; — 2
S | | —— | | | i | ER

= A E
— | =2

B - 4 _
1

L —0.5
1 " | " 1 1 " 1 1 " | " 1 1 H 1 " |

500 1000 1500

m_3jet [GeV]



	Contents
	Page 1


